pP= g.001 T=

7C00.

C-3

N1=8.56801E 1z N2=1.C3136F 15 N3=8.56801F 12 N

8 CM-TAL Sic-1
Q. 0.CCE-C1 1.02E 01
10C0. -4.€8SF C1 2.80E-03
2500. =1l.22E 02 4.4SE-04
5000. =2.44E 02 1.12E-04
7500. =3.€¢6E C2 5.00E-05
100C0. =-4.8GE C2 2.81E-C5
25000, =-1.2zE 03 4.50E-C6
5000C. =2.44E C3 1.12E-06
100600. -4.8SE C3 Z.81E-Q7
150000. =7.22E C3 1.25€E-0C7
P= 0.C01 T= 80€C0.
N1=4.55562E 1:Z
B Cv-TAU SIG-1
0. 0.CCE-01 .S3E 01
5C0. =6.42E CO 1.97E-01
1000. =-1.28E Cl1 5.44E-02
2500. =3.21E C1 G.C2E-03
50C00. =-6.42E C1 2.27E-03
7500, =-9.€4E 01 1.01E-03
250C0. =3.21FE 02 9.09E-05
50000. =-6.42zE 02 2.27E-Q05
1CC0C0. -1.28E C3 5.68E-06
150000. =-1.S%E C3 2.52E-06
P= 0.001 T= $0C0.
N1=1.36G68E 14
B aM-TAU SIG-1
Q. C.CCE-C1 1.G8E 01
500. =2.74E CO 1.03E 00
10C0. =-5.48E 00 3.32E-01
2500. =1.27E 01 6.1€E-02
50C0. =2.74E C1 1.58E-0z
75(0. -4.11E a1 7.C8E-03
10000. =-5.48E 01 3.99E-02
25000. -1.37€ C2 6.4CE-04
1000C0. =-5.48E 02 4.00E-05
15CCC0. -8.23E 02 1.78E-05
P= 0.001 T= 1C0CO.
8 OM-TAL SIG-1
O. OOOCE‘OI 20415 01
500. =-1.7%E CO Z.51E 00
10C0. =3.51E CC 8.44E-01
25C0. =-8.77E CO 1.74E-01
50C0. =-1.75E Cl1 4.63E-02
75C0. =2.€3E 01 2.08E-02
10000. =-3.51E €1 1.18E-02
2¢0C0. =-8.77E Cl1 1.89E-02
500C0. =1.75F €2 4.T74E-04
100000. =3.51E C2 1.,18E-04
150000. =5.26E 02 5.26E-05

SIG=2
OCOOE—OI
2.74E-01
1.37E-C1
5.495-02
2.75E-02
1.83E-02
1.3TE-02
5.49E-03
2.75E-C3
1.37E-03
9.15E-04

SIG-2
0.00E-01
1.40E 00
T.21E-01
2.91E-01
1.46E-01
9.73E-02
7.30E-02
2.92E-02
1.46E-02
7.30E-03
4.87TE-03

SI16-2
0.00E-01
3.84E 00
2.08E 00
8.68E-01
4.38E-01
2.92E-01
2.19e-01
8.78E-02
4,39E-02
2.19E-02
1.46E-02

SIG-2
0.00E-01
6.68E 00
3.76E 00
1.62E CO
8.25E-01
5.52E-01
4.156-01
1.66E-01
8.31E-02
4.,15E-02
2.TTE-02

DT=1

1.81E-08
-4.55E-11
=1le16E~-11
—1.86E—12
-4.,66E~-13
-2.07E-13
=1+17E+13
-1.87E-14
-4.67TE-15
-1.17E-15
-5.18E-16

NTOT=9.17F 14 DEBYE=9.14E-05
N2=8.26325E 14 N3=4.55562F 13 N

DT-1

3.69E-08
-8.42E-10
-2.65E-10
-4.56E-11
-1s15E-11
-5.13E~-12
~2289E=12
~4.62E-13
~Le 16E=13
-2.89E-14
-1.28E-14

DT-1

5.66E-08
-2.90E-09
=1+53E=09
-3.43E-10
-9.08E-11
-4.08E-11
-2.30E-11
-3.70E-12
-9.26E-13
-2.32E-13
-1.03E~-13

DT-1

T.7T7E-08
-4.10E-09
-3.35E-09
-1.02E-09
-2.91E-10
-1.33E-10
=T+55E=11
-1.22E-11
-3.05E~-12
-7-64E-13
=3.,39E-13

DT-2
0.00E-01
1.10E=11
1+72E=12
1.36E-13
1.97E-14
6.87E-15
3.48E-15
6.69E~-16
2.83E-16
1.34E-16
8.89E~-17

LAM-1
7-37E_Ol
2.64E-03
6.67E-04
1 . O?E"O‘f
2.68E-05
1.19E-05
6.70E-N6
1.07E-06
2.68E-07
6.70E-08
2.98E~-08

NTGOT=1.C5E 15 DEBYE=1.97E-04 LAMBDA=3.31E 03 LNL4BD= 8.10

LAM=-2
0.00E-01
3.54E-02
1.73E-02
7.13E-03
3.57E-03
2.38E-03
1.78E'03
7-14E-04
3.57E-04
1.78F-04
1.19E-04

LAMBDA=1.75E 03 LNLMBD= T7.47

DT-2
OQOOE—Ol
5.55E-10
1.04E-10
9.32E-12
l.44E-12
4.69E-13
ZOOQE—IB
lcb?E‘l‘?
3+31E=15
1.02E-15
6.00E-16

DT-2
0.00E-01
4.T74E-09
1.18E-09
1.32E-10
2:13E<11
7.20E-12
3.32E-12
2.61E-13
3.80E-14
6.83E-15
3.03E-15

DT-2
OCOOE—OI
1, 34E-08
4.05€E-09
5.45E-10
9.54E-11
3.26E-11
1:51E=11
1.25E~12
1.79€E-13
2.T2E-14
1.02E-14

LAM-1
1.41E Q0
4.99E-02
le43E-02
2.47E-03
6.04E-04
2.69E-04
1.51E-04
2.42E-05
6.05E-06
1.51E-C6
6.72E-07

LAM-1
2.13E 00
2.42E-01
9.23F-02
1.82E‘02
4,T0E~-03
2.10E-N3
1.195-03
1.90E-04
4.76E-05
1.19€E-05
5.29E-06

LAM-1
2.91E 00
5.42E-01
2.37E-01
5.59E-02
1.52€E-02
6.85E-03
3.87E-03
6.24E-04
1.56E-04
3.90E-05
1.73E-05

LAM-2

N .00E-01
1.96E-01
1.05€-01
4.31E-02
2.17E-02
1.44E-02
1.08€E-02
4+34E-03
2.17TE-03
1.08E-03
7.23E-04

NTOT=8.15E 14 DEBYE=5.59E-05 LAMBDA=1.21E 03 LNLMBD= 7.09
N2=5.41563E 14 N3=1.36968E 14 N4=2.21512E 06 N

LAM=-2
0.00E-01
5.27E-01
3.21E-01
1.43E-01
7.28E-02
4.87E-02
3.66E-02
1.47E-02
7.33E-03
3.67E-03
2.44E-03

NTOT=7.34E 14 DEBYE=4.29E-05 LAMBDA=1.03E 03 LNLMBD= 6.93
N1=2.59217E 14 N2=2.15515E 14 N3=2.59217E 14 N4=9.31014E 07 N

LAM-2
0.00E-01
9.36E-01
6.02E-01
2.91E-01
1.52€-01
1.02E-01
7.68E-02
3.08E-02
1.54E-02
7.71E-03
5.14E-03




Cc-4

N1=3.08606E 14 N2=5.C0168E 13 N3=3,08602E 14 N4=2.01133E 09 N

SIG-2
0.00E-01
7.88E 00
4 .45E 00
1.92E 00
9.81E-01
6.57E-01
4.93E-01
1.98E-01
9.89E-02
4.94E-02
3.30E-02

DT=1

9.87E-08

=5.09E=09

-4.35E-09

-1.38E-09

=3.97E~10

-1.82E-10
-1.03E-10
-1.67E-11
-4,18E-12
-1l.05E-12
-4.,65E-13

D=2
0.00E-01
1.78E-08
5.51E=09
T.54E-10
1.33E-10
4.55E-11
2.11E~11
I's76E=12
2.51E-13
3.79E-14
1.40E-14

LAM-1
3.68E 00
T.10E-01
3.13e-01
7.55E-02
2.06E-02
9+33E~=03
5.28E-03
8.51E-04
2.13E-04
5.32E-05
2.37E-05

N1=3.00611E 14 N2=1.04291E 13 N3=3.00558E 14 N4=2.63613E 10 N

SIG-2
0.00E-01
7.91E 00
4.40E 00
1.89E 00
9.58E-01
6.40E-01
4.81E-01
1.93E-01
9.,63E-02
4.82E-02
3.21E-02

(D .o |

1.20E-07
-6.44E-09
-4, 73E-09
-1.34E-09
=3,.,T6E=10
=1.TiE=10
-9.69E~11
=1 06E=11
=3.91E=12
=9e T8E=13
-4.,35E-13

bT-2
0.00E~01
1.77E-08
5.13E-09
6.62E-10
1.13E-10
3.85E-11
1.78E-11
1l.47€-12
2.09E-13
3.26E~-14
1.26E-14

LAM-1
4.4TE 00
7.40E‘01
3.18E-01
T.23E-02
1.94E-02
8.74E-03
4,94E-03
7.95E-04
1.99E-04
4.97E-05
2.21E-05

N1=2.81142E 14 N2=2,52806E 12 N3=2.80672E 14 N4=2.34857E 11 N

SIG-2
0.00E-01
7.63E 00
4.19E 00
1.77E Q0
8.97E-01
5.99E-01
4.50E-01
1.80E-01
9.01E-02
4.50E-02
3.00E-02

DT-1

1.44E-07
~T.64E-09
-4.78E-09
=1e21E-09
=3.29E=10
‘1-49E-10
-8.41E-11
=1,35E=11
-3.,39E~12
-3.77E-13

Di=2
C.00E~-01
1.62E-08
4.,36E-09
5'25E-10
8.72E-11
2s95E=110
1.36E-11
1510E=12
1.57E-13
2.60E-14
1.076-14

LAM-1
5.35E 00
7.32E'01
3.02E-01
6,40E-02
1.69E-02
Te9TE=0D
4,28E-03
6.87E-04
1.72E-04
4,30E-05
1.91E-05

N1=2.62522E 14 N2=7.37238E 11 N3=2.59458E 14 N4=1.53225E 12 N

P= 0.001 T= 11000.
B Cr-TAL SIG-1
0. 0.00E-C1 2.76E 01
500. -1.68E GO 3.05E 00
1000. -3.37€ 00 1.03E 00
2500, =8.41E CO 2.14E-01
5000 =-1l.68E Gl 5.73E-02
75C0« =2.52E 01 2.58E-02
10000, =-3.37E 01 1.46E-02
25000. =8.41E 01 2.35E-02
50000. =-1.&68E C2 5.87E-04
100000. =3.37€E 02 1.47E-04
1500C0. =-5.05E 02 6.53E-05
pP= 0.001 T= 12€0C.
B CM-TAL S1G-1
00 00005‘01 3008E 01
5C0. =-1.S2E CC 2.76E 00
1000. =-3.83E 00 S.23E-01
2500. -9.,59E 00 IIBTE—OI
€0€0. =-1.S2ZE Cl1 4.92E-02
7500, =2.88E Cl1 2.21E-02
10000. =-3.83E C1 1.25E-02
250C0. =9.59E 01 2.01E-02
50000. =-1.S2E C2 5.02E-04
100000. =3.832E C2 1.26E-04
1500C0. =5.75E 02 5.58E-05
P= 0.001 T= 13000.
B Ch-TAL S1G=1
0. 0.00E-C1 3.3SE 01
5C0. =2.25E CC 2.36E 0O
1000. -4.S5CE CO 7.78E-01
2500. =-1.12¢€ 01 1.51E-01
5000. =2.25E C1 3.94E-02
7500« =3.37€E C1 1.77E-02
10000. =-4.5CE C1 9.97E-03
25000. =-1.12E 02 1.60E-03
§0000. =-2.25E €2 4.00E-04
100000. =-4.50E C2 1.00E-04
1500C0. =6.75E C2 4.45E-05
P= 0.001 T= 1400Q.
B Cr=-TAL SI1G-1
0. 0.00E-01 3.68E 01
500. =2.&6CE 0C 2.02E 0O
1000. =5.21E 00 ¢€.57E-01
2500. =1.30F 01 1.24E-01
50C0. =2.6CE C1 3.19E-02
7500. =-3.S1E C1 1.43E-02
10000. =-5.21E C1 8.05E-03
25000. =1.20E C2 1.29E-903
50000. =-2.60E 02 3.23E-04
1000€0. =-5.21E C2 8.07E-05
150000. =-7.81E CZ 3.59E-05

SIG-2
OOOOE-Ol
7.30E 00
3.96E 00
1.66E 00
8.38E-01
4.20E-01
10685-01
B8.41E-02
4.21E-02
2.80E-02

DT-1

1069E-07
-8.53E-09
-4.69E-09
-1.08E-09
-2.89E-10
-1.30E-10
-T«.34E-11
-1.18E-11
-2.,95E-12
=T+38E~13
=3s 28E=13

DT-2
0.00E-01
1.44E-08
3.6LE=09
3J71E=10
GG E=1
1.78E~11
7<97E=12
55 8TE=13
3 16E-10h
1.33E=1k
5 oY E=Lb

LAM-1
6.27E 00
7.16E-01
2.815-01
5.65E-02
1.47E-02
6.58€E-03
3,71E-03
5.96E-04
1.49E-04
3.72E-05
1.66E-05

NTOT=6.67E 14 DEBYE=4.12E-05 LAMBDA=1.08E 03 LNLMBD= 6.99

LAM=-2
0.00E-01
1.21F 00
7.78E-01
3.79E-01
1.98E-01
1.34E-01
1.01E-01
4,04E-02
2.02E-02
1.01E‘02
6.73F-03

NTOT=6.12E 14 DEBYE=4.36E-05 LAMBDA=1.25E 03 LNLMBD= 7.13

LAM-2
0.00E-01
1.35E 00
8.60E-01
4.08E-01
2.12E-01
1.42E-01
1.07E-01
4.29E-02
2.15F=-02
1.07E-02
7.156-03

NTOT=5.65E 14 DEBYE=4.69E-05 LAMBDA=1.46E 03 LNLMBD= 7.29

LAM-2
0.00E-01
1.46E 00
9.10E-01
4,19E-01
2.15E-01
1.44F-01
1.08E-01
4.35E-02
2.1TE-02
1.09E-02
7+25FE=03

NTOT=5.24E 14 DEBYE=5.04E-05 LAMBDA=1,.69E 03 LNLMBD= 7.43

L AM=-2
0.00E-01
1.55€ 00
90475-01
4.25E-01
2.17E-01
1.45E-01
1.09E-01
4.37E-02
2.19E-02
1.09E-02
7.29€-03




